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Quant Mega Quiz for SSC Tier-1 (Solutions)

S1. Ans. (d);

Sol.
Maximum value of asin + bsin# is given by + a® + b*
Here a= —1, b=1

So, (—1)2 +12 =42

S2. Ans. (a);
Sol.

LetCP =100
100

105 05 less
%
Rs3
+10%, {Actual prise less)

-~ CP of the article = 100 x 6 = Rs 600

104.5

$3. Ans, (b)
Sol. Two triangles are said to be similar, If ratio of sides of both triangles is same i.e.,

_PQ_QR_PR TEST SERIES
DE EF DF Bilingual
A PQR ~ ADEF

$4. Ans.(c)
Sol.

Former speed = % =75 km/hr
42

latter speed = TD =70 km/hr

Required percent:?s_—? »* 100 = 6%%
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S5. Ans.(b)
Sol.

The value of cos24°® + cos55% + cos125% + cos204° + cos300°

We know that, cos(180° £ 8) = - cos0

= cos24? + cos55° + cos(180° - 557) + cos(180° + 24°) + cos(360° - 607)

= cos24° + cos55° - cos55° - cos24° + cos60®

1
= cosb0® = 3

S6. Ans. (d);
Sol.
Let he buys x tickets of first class
& y tickets of second class.
x+y=18 ..(i)
10% + 3y = 110 ...(ii)
By solving eqn. (i) & (ii)
x=8
yv=10
total cost after interchange of no. of tickets
=10=x10+8x 3
=124 Rs.

S$7.Ans.(c)
Sol.
D

E Fe
LEIF =90° + - ZEDF

1
=90 +-x110
2
=145°

$8. Ans.(c)
Sol.

R__5

P Q
T
In cyclic quadrilateral JOPRQT
£/PRQ + £PTQ = 180°
ZPT() =130°

2 I www.bankersadda.com

www.sscadda.com|www.careerpower.in | www.adda247.com



S9.Ans (a)
Sol.
£CAB and £ACD are supplementary
S~ LCAB + £AACD = 180°
And AB|| CD
~ £DCB = £ABC
L0AC=£0CA = 30°
A LA0C=120°= £ABC = 60°
= £DCB = £ABC = 60°
£0CD =90°
£L0CB = £0CD - £DCB
£0CB =90° - 60®
£0CB = 30°

$10.Ans (c)
Sol.

Z/CDE = #ABC = 90°
#DEC = #BAC

A ABC ~ A EDC

AB _ED

BC €D

24 10

60 CD
CD=25cm

S$11. Ans.(b)

Sol.

Time—=A:B=3:1
B:A=1:3

Time—=A:C=2:1

Time—=B:A:C=2:6:3

Let B takes — 2x days

A takes — 6x days

C takes = 3x days

1 1 1
ATQ= T+ 571 12 Months Subscription
14342 — 1

G
b=bx=>x=1
A will take — 6 days.

$12. Ans.(d)
Sol. 12, 16, 20 — are Pythagorean triplets.
So, the length of median to hypotenuse is half of the hypotenuse.

Length of median =2 = 10 em TEST PAC 14

A
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Useful for CGL, CHSL & others
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$13. Ans.(a)
Sol.

4+vE _ 442236 _ 6236

== = = 3.535
&—vh 4—2.236 1.764
S14. Ans.(a)
Sol.

$15. Ans.(b)

Sol.
J7-2V10+ 5 + 246
=5 +2-2V5xVZ+V2+3+2vV2V3
- J(E—vay + [(E+VE)

=5 —V2+V2+43
=+/5+43

$16. Ans.(a)
Sol.

Sum of square of 15f N natural Number = nlntl)(2ntl)

Sum of square of 15£ 12 natural number
_ 1zx(12+16‘;(zx12+1) —2 %13 x 25 = 650
4% +5%° 44122 =650—1—4—9=636

$17. Ans.(a)
Sol.
2mr=11

2xZxr=11

7
T ==
4

[~
Area of sector = mr?® —
360

C = central angle made by sector
2.8 ..% _7

7 16 380 32
13 .

=2— cm*
32

$18. Ans.(d)
Sol.

Value after discount = 100 x 20 * L X 50 - 33.6
100~ 100 100

Single discount = 100 - 33.6 = 66.4%)
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$19. Ans.(c)
Sol.
SP =100 X % = 120rs.
MP x —— = 120
100

1Z0x100

MP = = 150 rs.

$20. Ans.(a)
Sol.

at+b+ec _ 3k+Ek+7k _ 15k
b Sk Sk

=3

S$21. Ans.(b)

Sol.
1

Remaining work =1 - .
120 x 64 (120 — x) X 60
2/3 1/3
64=120-x
x=120- 64 =56 men

W

$22. Ans.(a)

Sol.
A — 10 6
B — 12 60 5
C — 15 4

(A+B+C)'s2dayswork=15x 2 =30
(B+C)'s2dayswork=9x2=18
Remaining work = 60 - (30 + 18)
=60-48=12

Time required by B to finish 12 work = 15—2
Totaltime=2+2 + 22

2
= 6; days
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$23. Ans.(a)
Sol.
A+ B — xdays
A —x+ 12 days
B - x + 3 days
1 1
x+12 x+3 x
x+3+x+12 1
x+12)(x+3) x
2x%+ 15x =x%+ 15x + 36
x* =36
X = 6 days
A alone will take = 6+12=18 days

S24. Ans.(b)
Sol.

A > 10 6
B — 12 60 5
c — 15 4

A + B + Cwill finish the work in = % =4 days
A’s work = Efficiency x Time =6 x 4 = 24
B'swork=5x4=20

Cswork=4x4=16

Wages are distributed in the ratio of work
A:B:C=24:20:16=6:5:4

A’s share = 750 x =
15

=Rs. 300
$25. Ans.(c)
Sol.
2M x 3 = 3W x 4 days = 4C x 6 days Complete Preparation for
6M=12W |6M=24C
SSC Exams

IM=2W |1M=4C

1M+2Children:1M+2xiM SSC
1

=1M+-M

2
3y EXTREME
2
2xX3= 5
X3 = 2 Xt Video Courses, Test Series,
t =4 days eBooks

6 | www.bankersadda.com | www.sscadda.com|www.careerpower.in | www.adda247.com


https://www.adda247.com/product-comprehensive-video/5137/ssc-extreme-complete-preparation-for-ssc-exams

$26. Ans.(b)
Sol.

A- 515 days
10
(A+B) - 1—:—0—>4days
3
o 4 days
1 work — %days

40
=3 days

$27. Ans.(c)
Sol.
tan 0 = %
1+2sinBcosB  sin’6 + cos® O + 2sin B cos B

1—2sinBcos® sin26 + cos2 O — 2sin b cosH
_ (sin® + cos 6)?

~ (sin® — cos 0)2

cos?20 (% + 1)

cos?8 (Seg — 1)
_ (tan® +1)?

~ (tan6 —1)2
27\
27
19~ 1
B (46)2
- \8
B (23)2
4
529
16

2

2

$28. Ans.(c)

Sol.

2sina+15(1-sina)=7

2sina+15-15sina=7

15sina-2sina-8=0
15sina-12sina+10sina-8=0
3sina(6sina-4)+2(5sina-4)=0

(5sina-4) (3sina+2)=0

sina=4/5,sina=-3/2 [sinis not -ve between 0 < a < w/2]

. 16 3
cosa=vV1l—sin2a= |1—-——==

25 5

cos

cota =

3
sina 4

Ul s U1 W
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$29. Ans.(a)

Sol.
2 -cos?0=23sin0 cos O
2 _ 3sinBcosH
cos2® ~  cos2@
2 _ 3sinB

1=
cosZ 0 cos O
2sec’0-1=3tan®

2(1+tan®0)-1=3tanB
2+2tan’f-1=3tanb
2tan’0-3tanB+1=0
2tan’0-2tanB-tanB+1=0
2tanBO (tanB-1)-1(tan6-1)=0
(2tan6-1) (tanB-1)=0

1
tanf = E,tanEl =1
1

tanf=-

2
$30. Ans.(d)
Sol.
SPof 32 orange=Rs 1

100
C.Pof 32 orange=1 X (100 — 20)
100 5
60 3
S.P. of 32 orange = 2120
3 100

=Rs2
Rs2 — 32

Rs 1 — 16 mangoes
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